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Hu: ANCEEOMBR(BA/BARSLY)
CHelr AtTHEHE 2P A (&2 d &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 =8l 22,110 159,110 A 137,000
O thsgas QETZAME AIZUHFA EDI 14,410
o 7MY 1,200& * 3007 360
o Lz=gdls M4 15,000& * 15004 2,250
o ZAMyCorY (&) 12,0002 » 15004 1,800
o EY AIBHH 5002 * 2007 100
o o TEW(I07 ,LT0IEH)
33,000& = 3004 9,900
O & QAN HHES 2,300
o JIEERE 90,000& » 10 A 900
o JIEEESB 110,000& * 102fA 1,100
o ZHE H3t 10,0002 * 30Z ¢l 300
O dCt gstAlD g 2537 72 5,400
o H=H 132,000& = 2074 2,640
o ¢=0tA3 55,0002 = 204 1,100
o =9 33,0002 = 2094 660
o & 2ot 50,0002 = 204 1,000
301 LEPEAF 3,000 4,050 A 1,050
12 JIEtE4 3 3,000 4,050 21,050
O & SHHEAMD Zaza
0,000& = 524 = 12& 1,800
O &t SFHE 0o 5 223
75,000& » 4A 300
O ME BEASE O - BSSHS 020l A
HI £ & 75,000% * 4% x 33 900
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Al 338,500
101 124 dl 602,488 594,000 8,488
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o oFY 69,7603 * 20¥ = 290 404,608
=2 202,304
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o X0 20,0003 * 209 = 230 92,000
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= 14,300
Al 14,300
o WAI O 400,000& = 23] = 20H 16,000
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= 2,000
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Al 31,316
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= 2,616
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150,000& = 53] = 113 8,250
= 4,125
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= 21,500
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01 XL 2 ZFH S| 192,200 0 192,200
O DIM®X BHER 3 F=H - 22 NFAY 192,200
o Kol WY Os=EEH - g 2
192,200,000& * 14 192,200
AtCHOFM 2te| 525,562 2,029,350 A 1,503,788
AbCH OFA 2kE| 7,200 7,200 0
201 L2l 2,120 2,120 0
01 At 22l 1,100 1,100 0
O ml=l 1,100
o OlapT OEEHS 1,100
- Gt&ED| 50,000& = 53 =« 13| 250
- SZ2)D| 100,000& = 5% « 13| 500
- otEe 20,000& » 5% = 13 100
- OtAM 3t 50,000& = 5% « 13| 250
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Pl AFCHOEA 2He| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o OFMI|I=AIOILE ROl
10,000& *» 195% 1,950
o 8 WA 720
- FUE 200,000& * 3M 4 * 13 600
- AUE 60,000& * 2Ji 4 * 13 120
202 oddl 2,210 2,210 0
01 = LH o4 1l 2,210 2,210 0
O ARsIsISHE ML AL HOILE A
85,000& » 298 = 22 « 23| 680
O stete s E Aol &4
85,000& = 298 = 2 « 23| 680
O LHATHOH Ol AZS| FA
85,000& = 298 = 2 « 23| 680
DAIAMD EEEX H=EEH XNE W
= 85,000& » 298 = 1 » 13 170
301 LEENZ 972 1,120 A 148
09 HALAMHIXI &3 972 1,120 A 148
O Of==4tE QHMIR 3| F A Xt AlH|
8,000& * 11 « 23] 176
O 22XdX ZHUa HFAX Al
7,9603 * 100 = 13l 796
Ol==018 e THHOS S8 o ™ olmet 25 Arg( 500,000 2,002,550 A 1,502,550
SOHEEAY)
403 XSS X201 & 500,000 2,000,000 A 1,500,000
02 SO 2SO HEHAHE X 2| &AL H 500,000 2,000,000 A 1,500,000
O OI220t4E HMHUSSE o4& odZg 7
=AY 500,000,000 = 14! 500,000
AHHIIE 22l - 2SS 17,435 0 17,435
MCHDIE Mel &2l - TS 17,435 0 17,435
201 L2l 10,300 0 10,300
01 At 22l 10,300 0 10,300
O 2et==&H| 9,640
o HII=2 BHEX ADES M
1,000& = 50000 = 43 2,000
o AMZEHEIIES 23 ANEEEE WM
1,000& = 50000 » 28 1,000
o &0 HIMEE EFH 2,000,0008 » 3A 6,000
o HII2 2¥Xe 28 g8 89 MA
80,000& * 404 * 23] 640
O I=dl 660
o MHEHIIE SR8 229 660
- Gt&DI 50,000& = 3% « 13l 150
- SZ2)| 100,000& = 3H =« 13l 300
- tEB 20,000& = 3% ~ 13 60
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el ADHEDIS Bl 2AS CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- etE &t 50,000& = 3% = 13 150
202 044l 7,135 0 7,135
01 = LH 4 1l 7,135 0 7,135
O HJII2 HE - Helgd &§35Hs
85,000& * 2 * 2& * 23] 680
O Hol=2Zelg HE¥us ¢ 23 HMoiLt &4
85,000& * 2 * 3 » 23 1,020
O HII=s22Y A AtA A2 L AHAS X
85,000& = 1H * 1& » 73 595
O MEHIISEM ANE=EH
20,000& = 28 11 = 113 4,840
HY2F A (AP 22| AF A ) (JIEH/DJIE 67,739 67,440 299
Jl2 &3l 67,739 67,440 299
JlE&l 67,739 67,440 299
201 ¢er24| 42,988 40,000 2,988
01 At 22l 34,988 30,000 4,988
O ger==&Hl 13,768,000& * 14 13,768
O =&l 21,220,000& = 14 21,220
02 =224l 8,000 10,000 A 2,000
O 2323 % HMA 8,000,000& = 14 8,000
202 044l 20,767 23,840 A 3,073
01 = LH o4 1l 17,567 20,000 A2,433
O BA2Y SHAH& 17,567,000 » 14 17,567
02 M0 3,200 3,840 A 640
O AN 3,200,000& = 14 3,200
203 YR =&t 3,984 3,600 384
02 3ty =2 384 0 384
O At A 2| Arg A A AR A ZHI(15
o) 384,000& * 14 384
04 FN2ELSZ=TH| 3,600 3,600 0
O BA2EYR=AH 300,000& = 12& 3,600




